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| 31100 |F13% 30 3,240 - 1,080 1, 080 1, 080| B ™ 34— R
31900 |42 3 540 216 162 162 B M 3kg

36800 |Ho& k9 11 4, 860 486 432 4321 &N 11kg

34400 | b= b 39 14, 926 432 432 324| &P 39kg

34200 |F§)K 30 9, 396 324 324 292| BN 30ke
35402 | AFHE 6 4,644 864 756 756 | BN kg

36600, |7z Eh& 90 12, 204 140 140 130| &N 90kg

33400 | L& X 4 432 54| 54 54| BP9 81H

33600 [/3E U 1 216 22 22 2|BA 103€

34764 [T—NRTF v o 77 44, 431 184 184 140| &M 258K
Y3018 |74 3 45 7,139 184] 173 108| &N 453

43900 | Ut 7 8,316 378 378 378| B 22%w 7
71011 |2 L —% 10, 824 33 24 17| BN 45074
71090 | R & —F 13, 063 66 66 61| BMH 12004
z1161 {6 (i) 7,436 50| 44 44| BH 160Ky R
Y5010 (obRx (F) 5| 1,604 356 356]  356| BN bk

30300 [\ L 50 15,120| 3,024 3,024 3, 024|RMs Br—A -
30300 | A L 100 17,496 1,944 1,728  1,512|%i 1047 — %
30400 | ZE 5 5 2,128 162 140 140 | 'S5 1588
31100 |H3E L 156 10, 368 864 864 864 | & W 124 — R
33810 |HHIHE 4 1, 296 65 65 65 i 205K
31700 ¥ ¥ 230 23,112] 1,296 864 se4lmRE |23 —x
31800 (1) NAE 18 6, 804 76 76 76 | {8 904

31950 | [ & L 6 3,672 1,836] 1,836 1,838|EE 2 —2R
31950 |HiaX B 6 1,728 864 864 864 | IR & 25— A
31930 |Zh¥ 864 32 11 11|58 6048
32800° {2 % 1,015 54 32 32| Bl 303K

34300 729 16 5, 616 140 . 140 140 |REA 404%

34300 |72 L 15 5, 508 1,836 ' 1,836 1, 836| FEA 3p—A
34400 | b= b ‘ 52 14, 688 1, 404 1, 080 756 | KEIR & 137 —2
34100 |HAK 2L 65 17, 064 1, 404 1,206 1,296 RS 13 —2R
34500 | v 20 7, 495 86 76 32| BB 1008
34500 B —w L - 10 6, 480 648 648 648 | B B 10kg

36200 |BEnE 4L 70 21, 168 3,024 3,024 3, 024 | FE R T — A
36210 | A—2 A > (%) L | 10 4,968 4,968 . 4,968 4,968 5 17—
36600 |/=Fh& ) 30 4, 860 65| 65 65| B 5 T54%

37200 | L x 528 2L 8 6, 048 3,024 3, 024 3,024 PE 27 — R
33400 |L & A 36 2,203 54 32 32| B 60fE

33410 [H=—L & % L 6 972 32 32 32| i@ 301

33420 |7 V=2 Y —T L H R L 6 648 32 32 RAREC 3018
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a— R g Eik | PERR (kg) &) = i il PE H (BEAT)
31310 |APH 8 1,296 32 32 32 |1& 4048
31500 |/Mn3E 12 3,888 65 65 65 |18 i 60%%
37560 |BBIT 1 3,240 324 324 324| K5y 108 7
36400 |RA b c |L 20 7,128] 3,564  3,564|  3,564|F# 24— A
38400 |2 DX HE 6 1,998 38 32 32| Rl 604
41362 |V =~ — (#) 3L 50 8,100 1,620] 1,620 1,620|R&&K 54—
V4022 (Ve 10 3,888 3,888] 3,888] 3, 888%F& 1r—2
43900 | M 1 1, 080 270 270 210\ BER B v
49100 |/ 6 1,188 1,188 1,188/  1,188|7 4 U by (14 —2
49420 |7HRH B 5 1,188)  1,188] 1,188 1,188|AF i = |1 —=
Y5008 |3&IF (B41) 70 33,426 4,806 - 4,752| 4, T52|EIRE Tr—A
Y5006 | #IR (41) 28 12, 139 303 303 303|EEEE |08y s
=1 1,493 403, 151] ‘ ‘
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